M B s=1:500

0 ON
(d9)G 6+

HIREE L=9, 5m

ERIEE
We3. 2~3. 6m
R T A=50m2
wh)+i7 ayh FET T 5 8 E
A=29m2
- EIRiE =9.
BT (EEtnS) BT GEELDS) BIBER L=9. om
A=2m?2 A=8m2 ERIEE (RX) W=3. 6m
NOET (1) NOIET (2) . o
N=115 R N=1%Ffr ERRIEES (&/) W=3. 2m
HP ¢ 200 L=4. Om aVvo)y—rJAayoET A=29m2
MaAET ) N=1F
NOLWET (2) N=1F
BT (EELTDS) A=10m2
R T A=50m2
BEK & & T (HP ¢ 200) L= 4m
BEYEUE LT (EHavy)-b) V= 1m3
TERHERT 1=

HEE R U
V=1m3

SM2EE R2EKE72E
I$% ZOMHEFERANFEISHRERKEEEISE

6 T BT 4 FEMm AR HA

HEniELR EEE

B R RE REES 1
sxxipe  FEMESEERMIIER



U180

|
NO. 0
GH= 98.51
FH= 98.51
W=3200
2400

Fe T T

y

S=1:100

S i Al 3. 65
S K B | 1.3
Bt 1.81
R L 0. 81
3 EET 7.63
|1
TEAERT

W=3. Om

MIvY—F

W=3. Om

<48 Ep

SM2EE R2EKE72E
I$% ZOMHEFERANFEISHRERKEEEISE

HEIEFR4 FE™H RNER #HA

RENIEHE FERTE X

im R X7 HEEE 2

sxxia  FEMESEERMIIER




He T T

®
+5.5
GH= 99. 41
FH= 99. 41
W=3600
3100

o s

A1) - PRI L

y

5=1:100

WL

3
® N
> | 557
| K IE 1.49
¢, S Bt 479
- i EEL | 0.9
S EET 4.87
ST S 8
- Jd B
TERERT
T o — K W=3. Om HIv— R
W=4. 2m W=3. Om

T4

SH2EE R2BEKE725
ZOMHEFERANFEISHRERKEEEISE

HBIERA

FEM AR HA

HmEmniEsE

A E X

e R

X= RE&ES 3

EX £

RE M EERARE R )R




Fea I I X s=1: 100

®
+9. 5 (EP)
GH= 99.92
FH= 99.92
W=3600
3100
T — - — ‘
HP200 \ /~'/ =
Vg5 —"° I S ® E
ARV -MIRL /1 © 7
HP 200 L=4.00m / "\ A | Ol | 5.18
o ) | o i~ ¥E 1.56
rm \ % 22 o 4.36
___#\\\\? HERL 1.02
\ — uo_\\\\\\ AT 4. 45
- 4 19 \
TEAERT
BIvY—K W=3. Om BIvY—F

W=3. 6m W=3. Om

SM2EE R2EKE72E
I$% ZOMHEFERANFEISHRERKEEEISE

HEIEFR4 FE™H RNER #HA

RENIEHE FERTE X

im R X7 HEEE 4

sxxia  FEMESEERMIIER




& B X
9500
. — V=1:200 3600 1900 4000
EETERFBR #1100 o 5 5
S
o S | ZEERI I
<t o e L
2 S R T %)
I - A=51m2
S %
=2
(_I/—|I)
. - 1450 9500 21740
JnyUBEIRHEK e
1100 Xi#T L=8.90m
S 300 =173y t=150 300
it 4400 4500 ;
- 1560 2940 ~
w0 FH=97. 45
S FH=96. 72
FH=96. 33 ——"’—"—_
Qv y—hrTRYIHET [ 4T 8m2
A=29m2 \\ FH=04. 28 e § = (HEEXDS)
Iss) ~ < =
N ~ I <
9N 7 ==
— )
T 22 SR 1112 |18 g
EEL03) \1§ 5 _ R ([
=T — I
O\I FH=92. 80
o
AT (2)
AT (1)
5|00 EBET L=4.12m EBEET =3.99m | 500
300 8110 300

FEEERT

A=1/2(7.63+4.94) x 3. 60+1/2 (4. 94+4. 87) x1.90+1/2 (4. 87+4. 45) x4.00

= 50. 59=51m2
sRiZ T

A=1/2 (7. 63+4.94) x 3. 60+1/2 (4. 94+4.87) x 1.90+1/2 (4. 87+4. 45) x4.00

= 50. 59=51m2

OV )y—rJAavoRET

A9 )— FE t=150

A=1/2(1.65+3.95) x 1/2 (4. 40+4.12)+1/2 (3. 28+4. 53) x 1/2 (4. 50+3. 99)

=28. 505 29m2
ERET : L=4. 1+4.0=8. 1=8m
KT - L=8.90=09m

BT (HEELDS)

A=1/2(1.45+0.50) x 2. 12=2. 07=2m2
A=1/2(2. 74+0.50) x 5. 00=8. 10=8m2

T4

SH2EE R2BEKE725
ZOMHEFERANFEISHRERKEEEISE

HBIERA

FEM AR HA

HmEmniEsE

i e

e R

X= RE&ES )

EX £

RE M EERARE R )R




J0Ow Y ETAZEERER s=1:50

A Rifm L
O\ /(18-8-25)

7

aVvoYy—rJAav s EL

EARA ($2235cm)
(RC-40) o
I L BhIE#4 =

(300 x 300 x 30)
kiS4 7 - ¢ B

‘N

(VP ¢ 50, 3m2/ & )

ZAa o )—+
(18-8-25)

H=1480~4050

\ /

AN
500LL £

\ 1
\ /

- 4

HET
(18-8-40)

K im L

$=1:20
650
O
&
(18-8-25)
EBET <190
100
avyl)—+k
(18-8-40)
/ =
S
Ol
- 8
B Lavhy-4
100 550 104 (18-8-40)
750
AM2%E R2EKE7 25
I$% %ogfﬁﬁimﬁgéliﬁnzr%'zﬁﬁ%ﬁé%ﬁIEI$
T R4 FEH HNER A
HEoEHE JOyvoBEIiZENEX
im R X7R HEES 6
Fxrhe| FETEEIPERIIIEE




/AT (1)s=1:50

340 00
B #h#f
(t=10)
A\
o - - o
S @ S
n |k

%ZZi:L/ \:DOU—F

(18-8-40) 1030 (18-8-40)
aVvyl)—F
V=1/2(0. 84+1. 03) x 1. 90 x 0. 30=0. 53m3
4
A=1/2.(0. 84+1. 03) x 1. 90 X 2+2. 12 x 0. 30=4. 19m2
B th

A=0.50%2.12=1.06=1. 1m2

/INOLIE T (2) s-1:50

840
B #hff
(t=10)
avol)—F
N (18-8-40)
S o
3 e 3
:|I|: b
avyl)—+k
(18-8-40)
1290
avol)y—4F

V=1/2(0. 84+1.29) x4.47x0. 30=1. 43m3
mH

A=1/2(0. 84+1.29) x4. 47 x 2+5.00x 0. 30=11. 02m2

B H#t
A=0. 50 % 5. 00=2. 50=2. 5m2

00
/
O
™~
#
b
xI
SH2EE R2EKE722
I$% FOMHETAHERRMEISHRERKEERILISE
T R4 FEHT RE A
HEDiELE NOLETHEE
e R X7~ RE&EE 7

EX £

RE M EERARE R )R




FEEYEIE LALER s=1:200

BIRER L=9. 5m

[P 5070
77 % 2 e
v

BEYRELI (EHavI—F)
3 V=0, 042+0. 027+0. 011+0. 011+0. 014+0. 651=0. 756= 1m3

BiE L BB s=1:50

MEHaV)— b
V=0.70 % 0. 30 x 0. 20=0. 042m3

100

00

t=200

Q) EFaZYY—
V=0.60x%0.30x1/2x0.12=0.011m3

600

[=]
(=

t=120

G)EHaV)—
V=0. 40 x 0. 30 x 0. 12=0. 014m3

400

00

t=120

Q) EFOAT Y — F
V=0.60x%0.30x0.15=0.027m3

600

[=
O

t=150

A EFOAD YY) — F
V=0.30x%0.30x0.12=0.011m3

00

00

t=120

OF: 3 =RV ESNS

V={1/2(0. 65+0. 79) x 1.90+1/2(0. 79+0. 63) x 3. 40+
1/2(0. 63+0. 89) x 0. 10+1/2(0. 89+1. 03) x 0. 50} x
0. 15=0. 651m3

SM2EE R2EKE72E
I$% ZOMHEFERANFEISHRERKEEEISE

T R4 FEH HNER A
RENIEHE HiE L ITXmE
im R X7R HEES 8

RE M EERARE R )R

EX £




R T ZER

o TEAERTI L=69.5n
i B &1 I T 1 B s=1:500 SRR E - 15 A=3. 0x 69, 5+44. 7+28. 5=281. 7= 282m2
Brot iR e A=3. 048 x 1. 524=4. 6m2
N=282+4. 6=61. 3=61#%
BEHARBE t=614 x 0. 802t/#4=48.9 t

A=44. Tm2 (CADRFEIZ &£ %)

] A=3.0x|9. 5=28. 5m2

ZAEMER  s-1:50

W=3000
///ij BSHRRE - HA

SM2EE R2EKE72E
I$% ZOMHEFERANFEISHRERKEEEISE

HEIEFR4 FE™H RNER #HA

RENIEHE REX T m

im R X7R HEES 9

sxxia  FEMESEERMIIER




=n -
ez T SEHX
sn=g o g ey V11100
{REZETIEIMEET D 1=1:500
b < [s[7 XY .
TEMAE®BT L=69.5n ZEXEWEBE  s=1:5
BEARIRE - W (B% 1+ XFH)
[
o 4000
500 #=3000 500
& BtT :
7 gLt HIRERE - B E
I — WEIRRE - i
L=12. 4m o
BtT . E
BERE | "aA50 om Ko &
f T L=13. T e ~ o
° 3 2 Bt (BAL)
T4 BHE=5400 A=3. 29m2
Bt (BEAL) THELEE=(10.9+7.4) = (13. 7+12. 4)=0. 70m
V=3.29 x (13.7+12. 4)=85. 87=90m3
Bt s V=3.29 x (13. 7+12. 4)=85. 87=90m3 eE RemRET2E
I%% FOMTETAEBEANE I ERERKEEIRIIS
i T T2 FEH RNEFE A
RIE D&% I Xm
im R X7 HEES 10
ExIHhe| (FETEREPERIIIEE




